AB: Q502 REVIEW

(The exam will be very similar in format)
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1: Consider the region R bounded by the gfaphs of y= e, v=In{x—-1), x=2,and x=4 as
shown by the shaded region above.

A. Setup, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the x axis.

V= T [(e@—z))l‘-(ln(x—njl ix

B. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the y axis.

Y= 27 () (0= lnte-n) doxe

C. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line x =16.

Y= LTV j(lb— 7()(6#1_. Lu-n)cj,x

D. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line y =16.

.
V= J[/a-ww)) —(1b-<) OL
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2: Consider the region R bounded by the graphs of x =2y* + y—2and y = Vx
as shown by the dark shaded region above. Consider, also, the region S bounded by the graphs
of x=2y*+y-2,y= ifx , and x + y = 2 as shown by the light shaded region above.
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X=2lytg-2 X=4§ x=2-y
A. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region Ris revolved about the line x =4,

TTf[Lf (24%y - 1)) (- ?) 0’)?

-
B. Setup, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region R is revolved about the line y = 4.

lTj(V*%)(ﬁg*(luL*a—L))J?/

C. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region S is revolved about the line x = 4.

TV r‘*i - tra-3) =t -9 *Tj (-5l

D. Set up, but do not evaluate, an expression involving one or more integrals used to find the
volume of the solid generated when the region S is revolved about the line y =4.

\/= ’mf(a‘-y)( Y- (2449~ ZDJ ; ZnS(L{ ;;)(1-3 @)J
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3 If ‘;—P — 0.001P(25 - P)and P(0) =15 .. K=
A. Find the function P(¢). Provide a quick sketch.

B. Find the value of P when %is at its greatest.
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4: If‘;—‘:_zLOP—SPz and P(0)=3..
A. Find the function P(¢). g__,s, ”JP SP(% - [9) K-5 [ =F%

B. Find the value of % when -EIS at its greatest
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5: If — 22 =5-2 and Z(0)=25 ... ot X = oo
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A. Find the function Z(¥). ;
K=o L=30°

B. Find lim Z(7) .
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6. Consider the differential equation % _y Ll

2 y
Let y = h(x)be the particular solution to the differential equation with A(0)=2.

A. Use alinearization centered at x =0 to approximate 4(1).

B. Use Euler’s method, starting at x = Owith two steps of equal size, to approximate ().
K] Lexy= At h(o2)(x=0)

[Y= 2 + [z—;'_m](x)

Lix)= 2 — X
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7. Consider the differential equation ? =2 (2x +2)
x
Let y = f(x)be the particular solution to the differential equation with f(0)=-1.

A. Use Euler’s method, starting at x = Owith two steps of equal size, to approximate f (%] .
DAY= 4
B. Find y = f(x), the particular solution to the differential equation with initial condition

F0)=-1.
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